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FEH 1 = 1 5 2 |FRIE1A178 EFRRREMRICKD
FEH 2 = 1 5 1 |*FERIE1A17H ERRREMRICKD
FEH 2 = 1 5 1 |FERIE1A17H ERRREMRICKLD
FEH 2 = 1 5 1 |*FERIE1A17H ERRREMRICKD
FEH 2 = 1 5 1 |FERIE1A17H ERRREMRICKLD
FEH 2 = 1 5 1 |*FERIE1A17H ERRREMRICKD
FEH 3 = 1 5 | 52 |[ER7E1A17H ERRREMRICKLD
FEH 4 = 1 5 50 |ER7E1R178 EFERRRERICLD
FEH 4 = 1 5 | 51 [FER7HE1A17H EFRRREMRICKD
FEH 6 = 1 5 | 48 |ER7E1R17H ERRREMRICKD
FEH 7 = 1 5 47 |FERIE1A1TH FERRTERICLD
F = 9 = 1 5 34 |ERTEIA17H EFRRREMRICKLD
FEH 9 = 1 5 34 |FERIE1A1TH FERRTERICLD
F = 10 = 1 5 32 |ERTEIA17H EFRRREMRICKLD
FEH 11 = 1 5 30 [FERL7E1A1TH FERRTERICLD
FEE 12 =41 1 5 | 37 |FR7E1A17H FERRTEMRICED
FEH 13 = 1 5 39 |[FERIE1A1TH FERRTERICLD
FE 13 = 1 5 | 39 |FR7E1A17H FERRTEMRICED
=R 13 1 | =5 1 5 20 |ER7E1RA178 FERRTERICLD
F = 13 2 |EW 1 5 40 |ERTEIA17H EFRRREMRICLD
FEH 14 =g 1 5 21 |FER7IE1A17H FERRTERICLD
F = 14 1 |EH 1 5 24 |FER1ET1A1TH ERRREMRICKLD
FEIH 14 1 |=5 1 5 25 |FER7E1A17H FERRTEMRICLD
FEH 15 = 1 5 | 27 |FR7E1A17H FEERRTERICED
FEH 16 =5 1 4 18 |FR7E1H17H ERRREMICKLD
FEH 17 = 1 4 16 |FR7TE1R17H FEERRTEMRICED
FEH 18 =5 1 4 13 |*FR7TE1H17H ERRREMICKLD
FEH 18 = 1 4 14 |FERTE1R17H FEERRTERICED
FEH 19 =5 1 4 1 |FER7IE1R17H ERRREMICKLD
FEH 20 = 1 4 9 |FRIE1A17H FEERRTEMRICED
FEH 21 =5 1 4 6 |TFRIE1H178 ERRREMICKLD
FEH 21 = 1 4 6 |TFRIEI1A17H FEERRTERICED
FEH 21 1 |=5 1 4 7 |FERRTFE1R17H EFERRREMRICLD
FEH 21 1 | =3 1 4 7 |FERIE1R17H EERRREMRICKLD
FEH 22 = 1 4 1 |FERTE1A178 ERRREMICKD
FEH 22 = 1 4 1 |FERIE1A17H FEERRTERICED
FEH 22 = 1 4 1 |FERTE1A178 ERRREMICKD
FEH 23 = 1 3 1 |FERIE1A17H FEERRTERICLD
FEH 23 = 1 3 1 |FERTE1A178 ERRREMICKD
FEH 23 = 1 3 3 |FERIE1A17H EERRTERICED
FEH 23 = 1 3 3 |FRIE1A17H ERRREMICKD
FEH 23 = 1 3 3 |FERIE1A17H EERRTERICED
FEH 24 = 1 2 5 |FRIE1A17H ERRREMICKD
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FEH 25 = 1 2 7 |FRIE1R17H EFRRREMRICKD
FEH 25 = 1 3 7 |FERIE1R178 EFERRRERICLD
FEH 25 = 1 3 7 |FRIE1R17H ERRREMRICKLD
FEH 25 1 |E5 1 2 6 |FERK7E1A17H EFERRTERICLD
FEH 25 1 | =3 1 3 6 |FER7E1A17H FERRTERICLD
FEH 26 = 1 3 5 |FERTE1A17H EFERRTRERICED
FEH 26 = 1 3 5 |FRIE1A178 ERRREMRICKLD
FEH 26 = 1 3 5 |FERTE1A17H EFERRRERICLD
FEH 27 = 1 3 6 |TFRIE1A17H EFRRREMRICKD
FEH 27 3 |EW 1 3 7 |FERIE1R178 EFERRTRERICLD
FEIH 27 4 |'=H 1 3 34 |ERTE1A178 FERRTERICLD
FEH 27 5 =5 1 3 35 |EFHTEI1R178 EFRRREMRICKLD
FEH 28 =5 1 3 8 |FERIEI1A1TH ERRREMRICKLD
FE 28 = 1 3 9 |ERIE1A17H FERRTEMRICED
FEH 28 =g 1 3 10 |ER7E1R178 FERRTERICLD
FEE 29 = 1 2 9 |ERIE1A17H FERRTEMRICED
FEH 29 =5 1 2 9 |ERIEI1AITH ERRREMRICKLD
FE 29 = 1 2 9 |ERIE1A17H FERRTEMRICED
FEH 30 =g 1 2 12 |ERRTE1R178 FERRTERICLD
F = 30 = 1 2 13 |*FER7E1R17H EFRRREMRICLD
FEH 30 =g 1 2 14 |ERRTE1R178 FERRTERICLD
FE 31 = 1 3 1 |FERTE1R17H FEERRTERICED
FEH 31 =5 1 3 12 |*FR7E1817H ERRREMICKLD
FEH 31 = 1 3 12 |FER7E1A17H FEERRTERICED
FEH 32 =5 1 3 14 |FER7TE1H17H ERRREMICKLD
FEH 32 = 1 3 14 |FERTE1R17H FEERRTEMRICED
FEH 33 =5 1 2 16 |FR7E1H17H ERRREMICKLD
FEH 33 = 1 2 17 |*FER7E1B17H ERRREMRICKLD
FEH 33 =5 1 2 18 |FR7E1H17H ERRREMICKLD
FEH 33 = 1 2 18 |FER7E1A17H FEERRTEMRICED
FEH 33 =5 1 2 18 |FR7E1H17H ERRREMICKLD
FEH 33 = 1 2 18 |FER7E1A17H FEERRTERICED
FEH 33 = 1 2 18 |ERTE1H17H ERRREMICKD
FEH 34 = 1 2 19 |FERTE1A17H FEERRTERICED
FEH 34 2 |EH 1 2 20 |ERTETA17H EFERRREMRICLD
FEH 35 = 1 3 15 |FERTE1R17H FEERRTERICED
FEH 35 3 |EW 1 3 24 |ERTETA17H EFERRREMRICLD
F = 35 3 |EW 1 3 24 |FERL1E1A1TH EERRREMRICKLD
FEH 36 1 |=5 1 3 23 |ERTEIA17H FERRREMRICLD
FEH 36 1 |=5H 1 3 23 |FERKTE1RA17H EFRRREMRICKLD
FEH 36 1 |=5 1 3 23 |ERTETIA17H EFERRTEMRICLD
FEH 36 2 |BH 1 3 18 |ER7E1H178 EFRRREMRICKLD
FEH 37 = 1 2 | 21 |FR7E1A178 ERRREMICKD
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FEH 39 = 1 9 1 |FERIE1A17H EFRRREMRICKD
FEH 40 = 1 9 6 |FERIE1A17H ERRREMRICKD
FEH 41 = 1 9 7 |FRIE1R17H ERRREMRICKLD
FEH 41 = 1 9 8 |FERIEI1A17H ERRREMRICKD
FEH 46 = 1 9 10 |FR7TE1A17H ERRREMRICKLD
FEH 46 = 1 9 12 |FER7E1B178 EFERRTRERICED
FEH 52 = 1 13 | 9 [FEm7EFE1A17H ERRREMRICKLD
FEH 110 | 3 [EH 1 1 37 |ERTE1R178 EFERRRERICLD
R 110 | 3 |=4 1 1 37 |ER7E1RA178 FERRTERICLD
FEH 11| 1 [EHE 1 1 21 |ER7E1R178 EFERRTRERICLD
=B 1Ml 1 =% 1 1 21 |ER7E1A178 FERRTERICLD
F = 11| 1 [=EH 1 1 21 |EFR7E1R178 EFRRREMRICKLD
FEIH 11| 2 [EH 1 1 22 |FERIE1A1TH FERRTERICLD
F = 114 = 1 1 12 |*FER7E1B17H EFRRREMRICKLD
FEIH 114 =5 1 1 12 |ERRTE1R178 FERRTERICLD
F = 114 = 1 1 12 |*FER7E1B17H EFRRREMRICLD
FEIH 114 =5 1 1 12 |ERTE1R178 FERRTERICLD
F = 114 = 1 1 12 |*FER7E1B17H EFRRREMRICKLD
FEIH 114 =5 1 1 12 |ERRTE1R178 FERRTERICLD
F = 114 = 1 1 12 |*FER7E1B17H EFRRREMRICLD
FEIH 114 =5 1 1 13 |ERRTEI1R178 FERRTERICLD
F = 114 = 1 1 14 |ERRTE1R178 ERRREMRICKLD
FEIH 114 =5 1 1 17 |ERRTE1R178 FERRTEMRICLD
F = 115 = Ik 1 1 9 |ERIFEI1A17H ERRREMRICKLD
FEIH 115 =5 1 1 9 |ERIEI1A17H FERRTEMRICLD
F = 115 = Ik 1 1 9 |ERIFEI1A17H ERRREMRICKLD
FEIH 115 =5 1 1 9 |ERIEI1A1TH FERRTREMRICLD
F = 115 = Ik 1 1 9 |ERIEFEI1A17H ERRREMRICKLD
FEIH 115 =5 1 1 9 |ERIEI1A17H FERRTEMRICLD
F = 115 = Ik 1 1 9 |ERIFEI1A17H ERRREMRICKLD
FEIH 115 =5 1 1 9 |ERIEI1A17H FERRTEMRICLD
F = 115 = Ik 1 1 9 |ERIEFEI1A17H ERRREMRICKLD
FEH 115 =5 1 1 9 |FERKIE1A17H EFERRREMRICLD
FEH 115 (=1 1 1 9 |FERIE1A17H FEERRTERICED
FEH 115 =5 1 1 9 |FERKIE1A17H EFERRREMRICLD
FEH 116 (=1 1 1 7 |FERIE1A17H FEERRTERICED
FEH 116 =5 1 1 7 |FERIE1R17H EFERRREMRICLD
FEH 118 = 1 1 2 |FRIE1B17H EERRREMRICKLD
FEH 122 =5 1 1 48 |ERTETA17H FERRREMRICLD
FEH 122 = 1 1 48 |FERTETIA17H EFERRTERICELD
FEH 122 =5 1 1 48 |ERTET1A17H EFERRTEMRICLD
FEH 123 = 1 1 46 |FERTEIA17H EFRRREMRICKLD
FEH 123 =5 1 1 46 |FERTETA17H EFERRTEMRICLD
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FEH 123 = 1 1 46 |FERTE1A178 FERRTERICLD
FEH 123 = 1 1 46 |ERTE1R178 EFERRRERICLD
= 123 =917 1 1 46 |ER7E1RA178 FERRTERICLD
FEH 123 = 1 1 46 |ERTE1R178 EFERRTERICLD
FEH 123 = 1 1 46 |FERTEIA178H FERRTERICLD
FEH 123 = 1 1 46 |ERTE1R178 EFERRTRERICED
FEH 123 = 1 1 46 |FERTEIA178H FERRTERICLD
FEH 123 = 1 1 46 |ERTE1R178 EFERRRERICLD
FEH 123 = 1 1 46 |FERTE1A178 FERRTERICLD
FEH 123 = 1 1 46 |ERTE1R178 EFERRTRERICLD
FEIH 123 =5 1 1 46 |FRL7E1A17H FERRTERICLD
F = 123 = Ik 1 1 46 |FERTEIA17H EFRRREMRICKLD
FEIH 271 =5 1 15 | 23 |FR7E1A178 FERRTERICLD
FEH 275 | 1 |=H 1 8 2 |FERTE1RA17H EFRRREMRICKLD
FEIH 275 | 2 |=EH 1 8 1 |*FERIE1A1TH FERRTERICLD
F = 275 | 3 |EH 1 8 15 |FERR7E1A17H EFRRREMRICLD
FEIH 276 =5 1 7 37 |FERIEIA1TH FERRTERICLD
FEH 277 = 1 7 2 |FERIE1R17H EFRRRERICLD
FEIH 277 | 1 |=H 1 7 FR1E1A1TH FERRTERICLD
F = 277 | 3 |=H 1 7 M |ERTEIR178 EFRRREMRICLD
FEIH 277 | 3 |EH 1 7 M |FERIE1A1TH FERRTERICLD
FEH 278 | 1 |=H 1 7 3 |ERIFEI1A17H ERRREMRICKLD
FEIH 278 | 3 |=i 1 7 6 |FERIE1A17H FERRTEMRICLD
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